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5 fiETH 1 I\ 449,700
& 4,425,270




4, i bR Ijmjfm*w %};ﬁ Mo e W fE 4
OB 3EEN L
1 far/E s HLak 1 =\ 300,600
2 FaKeR 1 \ 31,990
3 HEAK A 1 \ 48,600
4 fiETE 1 F5W 22.700
= 403,890




4, i bR Ijmjfm*w %};ﬁ Mo e W fE 4
=

OB4BEN L

1 AR 1 T\ 114,000

O fE B H i 1 \ 2,905,600

3 Fa/KiklE 1 \ 399,150

4 HEKER1E 1 \ 970,220

5 fiETH 1 I\ 396,900
& 4,785,870




4, i bR Ijmjfm*w %};ﬁ Mo e W fE 4
=

Q- 12BN

1 AR 1 T\ 125,600

O fE AR SN H i 1 I\ 2,127,800

3 Fa/KiklE 1 \ 370,680

4 HEKER1E 1 \ 883,020

5 fiETH 1 I\ 344,200
& 3,851,300




4, i bR Ijmjfm*w %};ﬁ Mo e W fE 4
=

Q- 14BN

1 AR 1 T\ 125,600

O fE B H i 1 \ 2,304,200

3 Fa/KiklE 1 \ 356,630

4 HEKER1E 1 \ 968,520

5 fiETH 1 I\ 390,100
& 4,145,050




4, i bR Ijmjfm*w ﬁf};ﬁ Mo e W fE 4
=

Q- 1BENA

1 AR 1 T\ 114,000

O fE AR SN H i 1 I\ 2,727,200

3 Fa/KiklE 1 \ 454,230

4 HEKER1E 1 \ 1,171,950

5 fiETH 1 I\ 482,700
& 4,950,080




4, i bR Ijmjfm*w ﬁf};ﬁ Mo e W fE 4
=

Q-2

1 AR 1 T\ 114,000

O fE AR SN H i 1 I\ 2,727,200

3 Fa/KiklE 1 \ 461,760

4 HEKER1E 1 \ 1,003,300

5 fiETH 1 I\ 449,800
& 4,756,060




4, i bR Ijmjfm*w ﬁf};ﬁ Mo e W fE 4
=

Q-4

1 AR 1 T\ 114,000

O fE AR SN H i 1 I\ 2,846,200

3 Fa/KiklE 1 \ 507,760

4 HEKER1E 1 \ 1,025,400

5 fiETH 1 I\ 435,000
& 4,928,360




%, i T Ijmjfm*w %}‘g Mo A O fE O
AR AL Ly
TR AR 1 1\ 57,140
& 57,140
2 B N T




